Rubber Mounted SUB Adapter
Installation Instructions
For: OEM KTM Rubber Mtd.
Triple Clamp

Note: All work should be done by a qualified professional mechanic.

1. Install Frame Bracket by following Scotts Tower Installation Instructions.

M8 x 45
2. Once Frame Bracket has been installed, reinstall top triple clamp and torque Hex Head Bolt 1
new supplied stem bolt, stem and fork pinch bolts to manufacturers & Washer —1%

torque specs.
3. Remove stock bar perches.

4, Install BRP SUB Adapter Plate using M12 x 60 Hex Head Bolts.
Install M12 x 60 Bolts down from the top & replace stock rubber cones
with supplied Aluminum Cones in triple clamp. Install M12 Thin Washer
and M12 Nut and torque to 35 - 40 Ft./Lbs.

Rubber Bushing_

i : Top Bar Clamp
5. Assemble BRP Handlebar Perches as shown in illustration

and attach to SUB Adapter Plate using M8 x 45 Hex Head bolts
and washers. Use Blue Loc-Tite and torque to 18-20 Ft./Lbs.

6. Install Scotts Steering Stabilizer with supplied M6 x 20

Allen bolts using Blue Loc-Tite.

Handle Bar

7. Re-install handle bars and install Top Bar Clamps Perch —

using M8 x 35 Socket Head Allen bolts. Apply a small
amount of grease to threads and torque to 24-26 Ft./Lbs.

8. Check function of all controls while bike is on :
the stand to ensure there is no cable binding. SHBREL Bushlngx-
9. Re-torque all bolts after initial ride to ensure L

proper torque specifications.

| Collar—

10.Routine inspection of all components should be Steel Collar
performed to ensure proper function of all

M12 x 60
controls.

Bolts

Aluminum
Cones

Kit Includes (2)
Sets of Bushings

(Red) Medium Soft Bushings

For Technical Support Contact BRP. Toll Free: 800-834-9363 Or 719-633-8133



